B[ 112%10802
B(—
%q FH%J\?MO( ) 112410 A03H (=)
B EIEET TN BEAR:S50 1125 105048(Z) 1
alz[EX®) NEEIRE AR50 12E10R05E(E) | 112
3 =|BXKE) BlEsSER e e s REA#:50 F£10A06H(H)
_Emx x| BB EAEEd i BEAZ:50
£ = =( 0.3 1 v TE RS K
* = ZE S|y FERER( e1=ENED %
INES 25 |#[28E RIFRER( | © =)
st e BI0TE 25 |wEmkn | 07 |%|5E 3 |g|FRERC_ [ O
P 8 |z [HREAT A @ | 07 | BETH9T 35 =
i ﬁ%ﬁﬂmgs 0.3 " =L 2515 o] R K o7 £ i&)i(g{,% s %: -‘-I-:F)ﬂ.'(;'z 75
Gl " 1&/N420g el ZARYT | 04 | F'Z”F**i o & ;iﬁwﬁ 15
e A@E,T | 05 |1 TR ME wEH | 04
( 32 |& MREEZ 02 = ( 03
b e 05 |2 RARGSA | 4|5 ' AHAE#2009 | 1%
I AR R #A( 3 = [HBE(CAS | 05 éﬂ ﬁiﬁﬂ‘fﬂﬁ% 100°C | | BT B %
a[EEH@Q [ 03 i | B 7 D A 03 |, 1709 "4 BE O | 35 |R|MLLE
gu| B3 raL AB#(Q | 03 CIREEL W K.:.ﬁ 05 | 0 —%F( 2
B E fE ik ——% hE -3 ——1% B EHE:%-(Q) =™ gg%ﬁgﬁ s
s=(mraxy - g | TR A4( K Eﬁéﬁ(skg 04
EL T R 4 ( 02 E|Z=0FEY( 5 . & yef ﬁﬁﬁﬁ(% 0.4
ik 2 |z |BYE-E EEEY(TAP e Lt #A( 0.3
¥ h 0.2 02 |si|= 5 A E Bk
2| [FERR iy | A BB EE | BRI ~ 0.1
B 0.2 02 |= ™ 5 EAUNN
X 3| B 0z |- Ry 0.2 ARG ( 5
S 2 |sp[EHR - 5| RAREE 02
N E . B ik 0.2
JES z*ﬁtﬂﬁﬁ 15 |&|[&A " .
o x| HREX 5 | |[BAMAT
N T 83 = [mAAT 0%2 =|FEXTE | 12 |= ;LE
R 4| [ B3k & ERBAT F[MRMCAS | ar
= ( 0 ) 02 — 08 = = (B
g A E NEBmT | ZEHQ = |#EE22) 1
N=| )I& Jﬂl- 0.1 E /EH_V_ 0.4 =k ) 0.6 , ﬁ}}*ﬁ 5
= - = . Ik =B H( X £%(3K) 0.2 4 0.3
= 0.15 0.4 == BEITE
| TRER o 1Y =R 1 e xa | 1=
v . nﬁgt@
-~ 4% i B(
2 = .
&




H 112108118 (Z) 1124108128 (M) 1124108130 (H)
B A& AE:50 AEANE50 AEANE50
I|E|BgSER 3BT AL
&lm|FEREER( 03 | |BXKE) k| BK(E)

5 o | R 03 | gp| FREE 0.3
¥|& (0 6 |=|BETm300d 102 [Z[kETB-u 3
I EBERYA | 18 |=[FRE 2 || Et07 15

B EREKR T 0 |p|MITEFER | 05

sy BEE 05 |y NS 02 | |RemEy | 03

- E/NE A 05 |4 % B\Rg207g | 1

B 44( 0.3 AREEH
RE#-(Q) 0.3
i8R 0.2
p}}*ﬁ;\ 0.3
HE EEES 50PC |3 | B B E# HE T 3.5
32| & [ B ( 1 | |EREEYH] 1 |glaEEXRE | o7

sy | BRSK Ak ! | = [FERRH600g 43 s |PPHE B

@ |TLED 05 | |BEH4(3K) I EE-TET 0.04

T o B T i 01 | EETE 0.8

WA (CAS) 0.8

Rlgmagrt |
slz=lEragy EIERET 5 |&|asER 5
32| i | S B 02 |=|migs 02 |z tAEEM( 0.2

{¥ E,% 0.1 5I g,% 0.1 1% Eﬁgﬁ 0.1

= x i

* g
slxpresEg | soec [x|@MBLs A EEET 1
o | e | EBLE A FARES 118

" P ENEN 0.8 BEARE | 18

o = [FRER( 0.1 AER(

BE 518

CERE X




B 11251041
68 (—
5 Fﬁ%k;&z:so( ! 112810817 H(=)
ESRNS BEABS0 112%10A18R(Z)
NEAEETED %(zaEE A& AR50 112410198 (%) ~
| FREE( - 5| BK(B) B ELSER FAE AR50 2%10A208 (%)
I 3 ot FREE( 03 [ FREEE( 33 % | ZBK(20k =3§A§5{:50
- _ E-\L:FT( 3 |EIRE - # £ BR(2) HEEER( | a
|| 2B T( o 1 {E 1 ERE g(BXE
h 2 || EAREE 3 [ ALHAR 1 (| 03 =
s BETEE | os ke 1 BI0F([ 2 [®[E=H g | T RER(
algrs |l o 7 {x{emws | s pans |
CEmsmm | | i ol TN s ESEE FpRaaE |
sznm | o0 |® T GF AR B TH gj;fﬁwﬁ ERMNE = 045
WTRCAS | 02 % sERgs | 1 |" LB%E TS o1 | éii%(% 06
- EXRBYER p Eﬁa,%( 53 1& 28t i & P20 16
B ZE|BHEBEKRT Bt |2 e
2 5 il
N ETETEEE =|ER TR ﬁﬁﬁiﬁ%mﬁ =\ g
& SRGERE(500 05 ' Eﬁ#&(i 481 - E%EE( 2 =|FEXT i
s |RABE(ER | g [E AR — ' ST | 15 |gll BTE | 36 |=|BE
s NESRE =™ R EF5EXS 56 | RARIT( y * 'Eﬁﬁ%% g i‘imET'AP s
% o [ RR170g 1 E e —— BE — B ExXb |
0.3 BE AMREE JIg 2.
= S u}k 0.1 @ ﬁ ey 0.5
B i 7m¥'t]_](TAP 5 NEYRA Z g /%\T{ /flgg(Q) p
b Bl 0.2 R W ERY) 5 = & poRiio e, L 15
| B ¥ ol ESEE 0.2 RIFLRIN 5 — RNBE(E 1
2 |z Bk 02 |glmmam_| oz %B2EE | 5 |%[
A 1 for (B 0.1 HEXQ 01 | émﬁtﬂ( 5
= & | BAREE A ( 02 o E*E(ZOOQ 0.1
o | RE#- iy [
N=| o~ fx -(Q) 0.2 0.1
B %[ EHESE | oo g R o [ x
| & | RBRM(_ | 09 RIESDA( | 03 || BKHR 7 |
ag| T BRI 06 4|ABBAT | 13 BXERE | 0K |®|m
ST -3 = | EXEIE = =P MER N p
= E 02 07 I[AREX AR
" 5| BBRGEE | 02 * [PREXH | 08 |y |n MAT | 15
© EX R [ HEEQ | 04 g LB B 08
= Tl g FEXBEUT | 03 INELL
P HE2200g | 1= ¥
HEE T 02 |=
ks 02 |=




5] 112410 823H(—) 112510 A24H(Z) 1124108250 (=) 112410 826 B (M) 112410 A27H(H)
5 ABAE50 A8 AE50 AB AR50 A8 AE50 ABAR50
B MREES IR [FE 3K B|X2BES INKBECE B EXER
NEIEERED 2 [BXE) B R REE( 03 || AKX e [ RBEK
gIFRER( | 03 | RRER( | 038 |g (| FRER( | 03 g AT | 03
R R K
iR
E|&[HEFT( 35 |%(BBE 2 |xEBRYE [ 15 |R[ZERBT [ 2 |®[EEXTE | 6
FlEBENT 15 oy |BEBEAT 15 || FBINT( T | =| & i [BEBRYA 13
AREXE | 08 | [ARERR | 08 |L[AREXE | 06 | TXKBER | 08 | [4&E 0.5
+[EBBAT [ 03 [, [#F@Q 04| L[BABR(E ML 02 |, [ma@EE [ o4
T|HEE200g [ B | [AREAT | 03 | [@@EK 03 | T [hms 02 |TMER 0.2
"lmamen | 2& |"|asEs 004 | [MERTAP | 1 | [mmEs( | 02
BRBER EREE( | o B m 0.1
H#(CAS) 0.3 #9#2(200g 0.1
Blx(Ewnzr | 5 |x[E%E 35 |Z[EEEEE | 504 |&[EMAT( 35 |®[EFAGEE | 35
sl (B 02 |5 |ERTIK( 06 |m[IERET | 08 |o[omE 05 |z [BHEHM 0.3
4 | BB 06 | 4o [ERARE #4( 03 | x[EFEE [ KE#-(Q [ 03 | |wftdE 0.2
" LR 01| [t LRMEL T 03 |, [memmg | o2
p [ o1 | maEmR [ 0o | o FRER( [ 02
£ =2
Al
B|&[BIRY( 5 |x|EERYS | 5 |Z[AR9TAP | 5 |E|E#HR 5 |m|l@pAaRy | 5
| = [FREM( 02 | |EIRRE 5 ( 02 || EBHE-E 02 |x|EER 02 |y |@#haE 0.2
T Ei# 0.1 % B 0.1 ﬁ B 0.1 1% Ei# 0.2 H_ B 0.2
4 4 B =
% %
BIE[EXEYE | 13 [Z[FEHEE | 24 |Z[EEHTE | 06 |H[MAF06K | 18 [H[EIRWY 5
olmla@ExT | o7 |glBE®Q | o5 |& B KARYLE | 15 |m[upE 0.3
=|BRGEE 02 |4 [mBHF( | 004 g o [EBEK) ERMEE 0.1
BRI 05 |, [FREE( 0.1 T -3 02 | [&HZEHR 118
Er 0 ui': TawE | ?ﬁ R 0 § ARED(
TmrEmERa] 18 |- _ = T BRER 05
s & FEARD | 18




:H 1124108308 (—)
_ A& AB:50 112510831 8(Z)
N EERDY INEE AR50 1125117028 ()
s % | BK(B) BEERZER | & |RE FA4E AR50 112411 A03A (T)
ol 7 T B Y A A[EH AR
St} | BX(B) HEEne |
I =lEmEs £ FEEE( | 03 i ’;J’Ei};;ﬁ
e ST M- x| FEER ] o
K E*‘Zi 05 fg|BERYT 1 " yﬁ"j‘@w*fl‘ 0.8 i %HE:F%( 35 R
) %) TR f*mﬂ_( 0.8 &|RIZFQ 13 kb 18 R | ZHEH T 0.6
5 AR | 0z B ZRE(S —F weamm o BT (3 1
= - tHEE : — /) HEE KT
HEEE S i 03 |k — 0.3
ol EmE BT R g [N X
= L0 T | wMEIY RN S :
g PRERX | 15 | EBE 1 S EEE e L)
A MTQ — A BL#A(3K) — & HIRE(Q) — x| BAER 1
. o[BS o [BARER( i | E e
0.2 o 1# |, % 05 |4 |3 6
it n [FRERD - et B A 03 | ABEQ | 99
= = & —— Zﬁitﬂ% 1 = [FRERT —
== - RS
= i SHELN(TAP - 7 %? 1:1.,]1;3(2(()? 15 :
| ERAEEA( | 02 zl@gazy | s R 9 | o
| B 0.1 ol E%%%( 0.2 i iiﬁtﬂ( 5 — w
fz | B X A 0.2 % BLBELD 5
2 T | 02 m|EEE L -
Bl = mET Gk 2 % L — ] ;Eﬁ =
2[5 | £ (3K) 03 i Eﬁ/ﬁ’%%( Y & = 0.1
Y T mEEQ | 00 *EATC [ = &
i FERER( 01 s EEEZ'QF 02 ol NP 0.8 RFEUTRE 1.2 E I
gy | T R(200g | R g B T 1E AIREER 02 By S 05 s 07
3= 5 | 5| D 4 | KE(CE
B2 1 0.1 5 o7 o [m= 06
= 7 o[ HEEQ [ 03 g[ARER( | =
= TR #4( — &
#-(Q) 0.2 1=
5’37




